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L 23.900 23.900 23.900 [ 15.000 900 [ 14.200
L 23.900 23.900 . 23.900 [ 15.000 900 [ 14.200
L 23,900 23,900 N 23,900 [ 15000 900 [ 1a.
L 23,900 23,900 N 23,900 [ 15000 900 [ 12
L 23,900 23,900 [ 15 23,900 [ 15.000 900 [ 12
L 23,900 23,900 [ t6. 23,900 [ 16400 900 [ 12
23,900 23,900 [ t6. 23,900 [ 16.400 900 [ 12
23,900 23,900 [ t6. 23,900 [ 16400 900 [ 12
23,900 23,900 [ t6. 23,900 [ 16.400 900 [ 12
L 23,900 23,900 [ t6. 23,900 [ 16.400 900 [ 12
L 23,900 23,900 [ t6. 23,900 [ 16400 900 [ 12
L 23,900 23,900 [ 16 23,900 [ 16400 900 [ 12
L13 23,900 23,900 [ 16 23,900 16400 | 00 [ 12
KR (MR |_JLi02 23.900 23.900 [ 15. 23.900 12
Li04 23,900 23,900 [ 15 23,900 [ 12,
[JLi06 23,900 23,900 [ 15 23,900 [ 15,
23,900 23,900 [ 15 — [ 23900 [ 15,
L 23,900 23,900 IEE 23,900 EE
L 23,900 23,900 IEE 23,900 17
L 23,900 23,900 IEE 23,900 17
23.900 23.900 19.: 23.900 | 17
23.900 23.900 23.900 | 17
23.900 23.900 23.900 | 19,
23.900 23.900 23.900 | 19
23.900 23.900 23.900 |19,
23.900 23.900 23.900 | 19,
23.900 23.900 23.900 | 19
23.900 23.900 23.900 | 19,
FR(CAE)=XMR (FEHE) | RR(PR) R 23.900 23.900 23.900 | 13.
23.900 23.900 23.900 | 13
23.900 23.900 23.900 | 13
AR (BE) 5 23.900 23.900 23.900 E
23.900 23.900 23.900 | 21
23.900 23.900 23.900 N
KRG R BETH| REGRRE L2001 400 400 400 36
[ JL3911 .400 .400 .400
[_JL2005 .400 .400 .400
[ JL3917 .400 .400 .400
[_JL2009 .400 .400 .400
JL2019 .400 .400 .400
FUML (BT 2) 5 |_JL2000 400 400 400
JL3912 .400 .400 .400
2006 .400 .400 .400
L201 .400 .400 .400
L391 .400 .400 .400
L201 .400 .400 .400
XEWE ABEGTH| REWE % [JL250 00 00 00
[ JL250: .400 .400 .400
L2505 .400 .400 .400
TLWL (BT 3 |_JL2502 400 400 400
[ JL2504 .400 .400 .400
2506 .400 .400 .400
FEGIEEE | RAGIEE |25 78,000 26,000 26,000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
L% 28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
28.000 28.000 28.000
KR (75 =BfE KO (R % L212. .300 .300 .300
BRARS L212: .300 X .500 .500
XEEMME | KB(GME 1220 900 [ 52500 %00 %00
[CJr220 :900 | 32.300 900 900
[ JL2205 900 | 32,300 900 ,900 29,000
[ JL2207 ,900 | 32,300 900 ,900 29,000
[ JL2209 900 | 32,300 900 ,900 29,000
L2211 900 | 32,300 900 ,900 29,000
L2213 ,900 | 32,300 900 ,900 29,000
L2215 900 | 32,300 900 ,900 29,000
Wa%E | JL2200 :900 | 32.300 900 900 29,000
[ JL2202 900 | 32,300 900 ,900 29,000
[ JL2204 ,900 | 32,300 900 ,900 29,000
[ JL2206 900 | 32,300 900 ,900 29,000
L2208 900 | 32,300 900 ,900 29,000
L22 900 | 32,300 900 ,900 29,000
L22 ,900 | 32,300 900 ,900 29,000
L22 ,900 | 32,300 900 ,900 29,000
A AL N 1900 | 30300 1900 900 25.600
[CJr224 1900 | 30300 1900 1900 25.600
[Cor224 1900 | 30300 1900 1900 25.600
L225 900 | 30.300 900 ,900 25,600
HRE [ JL224 ,900 | 30.300 ,900 900 25,600
[oL224 1900 | 30300 1900 1900 25.600
[Jr224 1900 | 30300 1900 1900 | 26 25.600
L2250 900 | 30.300 29,800 900 ,900 26,100 25,600




MFEEI511/3/7 5EER(1AS~THEES)

EREAA . 2018/11/14 ~
B84 AR BT BT i 175 178 77 ]
=40} ' ' - ' 91T AHEST RS 547 C 47 D BT AR ST B[S 547 C 1S4 7 Ol 547 AR S47 E 158547 CH5E517D
E?" BEE | ERE B | ERE | EBR B | ERE | BRE | BRE | ERE
RRCAB)=XR(EM | ZRRFBD H L 23900 | 14.600 23,900 — 22.800 |_10.600 —
L 23.900 23.900 f— 22.800 | 12,000 f—
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 11.000
23.900 23.900 22.800 | 11.000
23.900 23.900 22.800 | 12,000
23.900 23.900 22.800 | 13.200
L 23.900 23.900 22.800 | 13.200
L 23.900 23.900 22.800 | 13.200
L 23.900 23.900 22.800 | 13.200
L13! 23.900 23.900 22.800 | 13.200
ENAG D L102 23.900 23.900 22.800 [_10.600
L104 23.900 23.900 22.800 | _10.600
[ JL106 23.900 23.900 22,800 [_12.000
23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
L 23.900 23.900 22.800 | 12,000
23.900 23.900 22.800 | 12,000
23.900 23.900 22.800 | 12,000
23.900 23.900 22.800 | 12,000
23.900 23.900 22.800 | 12,000
23.900 23.900 22.800 | 13.400
23.900 23.900 22.800 | 13.400
23.900 23.900 22.800 | 13.400
23.900 23.900 22.800 | 13.400
R (PE)-AR(BE) | "x(PER 23.900 23.900 22.800 | 13500
23.900 23.900 22.800 | 13.300
23.900 23.900 22.800 | 13.300
KR () 5 23.900 22.800 [_10.700
23.900 22.800 | 13.200
23.900 22.800 | 14.200
KR (A=A (FFm)| AR (FA R [ JL2001 400 200 36700
[ JL3911 .400 .200 36.700
[_JL2005 .400 .200 36.700
[ JL3917 .400 .200 24.400
[_JL2009 .400 .200 24.400
JL2019 .400 .200 36.700
HLIR (FF2) 5 |_JL2000 400 200 25400
JL3912 .400 .200 27.400
2006 .400 .200 27.400 —
L201 .400 .200 36.700
L391 .400 .200 36.700
L201 .400 .200 | 36.700
KR (BE) =4LIR (FrF )| AR (BB % | JL250 400 200 [ 22400
[ JL250 400 200 [_17.400
L2505 400 200 |_16.400
HLIR (T Fm) % | JL2502 400 200 [23.400
[ JL2504 400 — 200 [_24.400
2506 .400 .200 200 | 36.700
RR(FE)=LE RRCRE) % 1253 500 500 000 | 19.400
500 500 ,000 | 22300
500 500 000 | 22.300
1500 1500 000 | 19,000
1500 1500 000 | 19,000
1500 1500 1000 | 19.000
500 500 000 | 17.500
500 - 500 000 | 17.000
L% 500 500 000 | 17.600
1500 1500 000 | 19,000
2500 1500 000 | 19.400
1500 — 1500 000 | 19.400
1500 1500 000 | 19.400
2500 1500 000 | 19.400
500 500 000 20.000
500 - 500 000 19.000 —
KR (FF) -mfE Kl (FFFD 3 | JL2123 =] 300 — 200 800 | 36.300 —
BRARS JL2124 3BH .300 - 39.200 38.800 36.300 —

JAL



TH{EEI511/3/7)BER (1 A8~ BRRS)

EFEAR : 2018/11/14 ~

BR ;3 L P HEH170 HET70
E=7W W 5] E— wE ¥R EREM | E—7M
I ELES AR EEES FBA KR FBIE | FFIE
RR(PE)-LS EECES = =
0
800
300. £:17.300
300 %17.300
E: 100
10200, ET4T00
EE%
w0
800
00
E: 800




TH{EEI511/3/7)8ER 2A1~28A KRS

EFEAR : 2018/11/14 ~

BR ;3 L P HEH170 HET70
E=7W W 5] E— wE ¥R EREM | E—7M
I ELES AR EEES FBA KR FBIE | FFIE
RR(PE)-LS EECES = =
0
800
300. £:17.300
300 %17.300
E: 100
10200, ET4T00
EE%
w0
800
00
E: 800




MEEEI511/3/7 1 EER (AN~ 14BERS) JAL

EEEMAA ;- 2018/11/14 ~

. N . N 1/11 1/12 1/13 1/14 |
- g | AR R O O . ey (R Ry AR i@y (B CRE s B Es | Es B SR REAID
FET%EB FET%EB Fiiﬁgﬂﬂ WA | ESAA | EAE | EFUA | ESUH | B | ESUA | EFUAE | ESUH | R | GBS | ERUE | GBI | R | BT
RECAB) =L REROPE)H | J 15100 .500 15100 — .500 [ 15100 — 1500 15.100
[ J 20.600 .500 20.600 — .500 | 16.800 — .500 20.600
[ J 20.600 .500 20.600 .500 | 16.800 .500 20.600
[ J 20.100 .500 20.100 .500 | 16.800 .500 20.100
[J [17.300 500 [16.700 500 [ 17.300 500 [16.700
[J 17.300 500 [ 16.700 500 [ 17.300 500 [ 16.700
[J 500 [ 14,600 500 [ 19.400 500 [ 19.400
500 [ 14.100 500 [ 19200 500 [ 19.100
EB% J .500 |_16.000 .500 |_16.000 500 |_16.000
[J 500 [ 17.300 500 [ 16.000 500 [ 17.300
[J 500 [ 17.300 | — 500 [ 16.800 500 [ 17.300
[J 500 [ 17.300 500 [ 16.800 500 [ 17.300
[J 500 [ 16.800 500 [ 17.300 500 [ 17.300
[ J .500 | 16.000 .500 19.400 .500 | 19.400
[ J X .500 | 16.200 — .500 20.000 — .500 20.000
J — 20.000 — .500 | 16.000 — .500 20.000 — .500 20.000 —




TFERIS511/3/7BER A~ 1THBESD) JAL
EEEAA . 2018/11/14 ~
1548517 AN B BT s Es o 28 2 2/10 2711 |
=R s | - ’ - ST A7 547 CI BT L5517 ABE547 B[ (7 (|5 E57 L1 EI47 A1SES7 ENSE L7 CHES(7 Ol 15417 A5 E547 E1E547 |54 D
FET%EB FET%EB Fiiﬁgﬂﬂ WA | ESAA | EAE | EFUA | ESUH | B | ESUA | EFUAE | ESUH | R | GBS | ERUE | GBI | R | BT
RRCAB)=ES REROPE)H | J 15100 .500 15100 — .500 [ 15100 — 1500 [ 15100
[ J 20.600 500 20.600 f— 500 | 16.800 f— 500 | 17.300
[ J 20.600 500 20.600 500 | 16.800 500 | 17.300
[ J 20.100 500 20.100 500 | 16.800 500 | 17.300
[J [_16.700 500 [_16.700 500 |_16.800 500 [_17.300
[J 17.300 500 [_16.700 500 |_16.800 500 [_17.300
[J 500 [_15.100 500 [_16.300 500 [ 19.400
500 [_14.100 500 [_15.800 500 [_19.200
Lex [ J 500 16.000 500 |_16.000 500 |_16.000
[J 500 20100 500 |_16.000 500 [_16.000
[J 500 [_17.300 500 |_16.800 500 |_16.800
[J 500 [_17.300 500 |_16.800 500 [_16.800
[J 500 |_16.800 500 |_16.800 500 [_17.300
[J 500 [_16.000 500 |_16.800 500 [_19.400
[J X 500 [ 16000 | — 1500 [ 16800 | — 500 20000
J — 20.000 — 500 | 16.000 — 500 | 16.800 — 500 20.000 —




TH{EEI511/3/7 ) BERBAI~TEAERS)

EEEEA . 2018/11/14 ~
37T
4 HW3{7B #E{7C B0
E—OW L]
wE . HEE i wE s

R AE) LB TR 3% 17300, %:17.300
3% 22,300, K:22.300
39% 9:22.300. K:22.300
3% 22,300, K:22.300
a2
%
39% 20500
a1

hRR a3

a1 [F1:19.400. 21600, $21.600
a2 [£:19.800
% [£:19.800
2% £:19.800
% [ 20,500 #2050
2% :21.100. %:21.100. 19,400
4% [K:21.600. 21600, £:19.400




EREAB

2018/11/14

TH{EEI511/3/7 )5 EE%R (BA8~20A KRS

B0

=]

RR(PE)-LS

EECES

HW3{7B

#E{7C
L]

wE

s

wE

RLE

22,300,

17,300, %:17.300
X:22.300. 7K:22.300

:22.300. 7k:22.300

22,300

F20500

21600, % 71600

:20.000.
%2090

20500, % 20500

7K:20.000_ 21100, &21.100
20900, 21,600
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TH$EEI511/3/7 5BER (BA25~30ARRS)

7530

B0

=]

RR(PE)-LS

EECES

HW3{7B

#E{7C
L]

wE

s

wE

RLE

22,300,

17,300, %:17.300
X:22.300. 7K:22.300

:22.300. 7k:22.300

22,300

F20500

21600, % 71600

:21.000.
R:21.001

20500, % 20500

7K:21.000. AK:21.100, &21.100
21.000. 21,600




MEEEI511/3/7 EER BA21~24BHERS) JAL

EEEMAA ;- 2018/11/14 ~

. N . N 3/21 3/22 3/23 3/24 |
xm g | AR R O O . ey (R (R AR @y (B CRE Eh B Es | Es B B REATD
E”;gu E”;gu Ei%ﬁﬁﬂﬂ WA | ESAA | B | GBS | ESUA | EUAE | ESUA | EUAE | GETAE | ESUAE | GETHE | ESUA | SESTA | ENUE | GESUA | ERE
HR(PH)=LEE HERCPE)HE | J 21,500 [ _17.300 21.500 [_17.300 — 21,500 [_19.400 — 21,500 00 | 19.400
J 22,500 [ 21.700 22,500 [21700 | — | 22500 21700 | — | 22500 00 | 21,700
J 22,500 [ 21,700 22,500 [ 21,700 22,500 [ 21,700 22,500 0| 21,700
J 22,500 [ 21,700 22,500 21,700 22,500 [ 21,700 22,500 00 | 21,700
J 22,500 [ 19.400 22,500 19,400 22,500 [ 19.400 22,500 00 | 19400
[ J 22.500 19.400 22.500 19.400 22.500 19.400 22.500 00 | 19.400
[ J 22.500 20.500 22.500 20.600 22.500 20.600 22.500 0 21.100
22.500 20.600 22.500 20.600 22.500 20.600 22.500 00 20.600
EBE | J 21,500 [ 17.600 21,500 17.600 21,500 [ 17.600 21,500 00 | 17600
J 22,500 [ 21,600 22,500 [ 21,600 22,500 [ 19.400 22,500 00 | 19400
J 22,500 [ 19.400 22,500 [ 19.400 22,500 [ 19.400 22,500 00 | 19400
J 22,500 [ 19.400 22,500 [ 19.400 22,500 [ 19.400 22,500 00 | 19400
[ J 22.500 19.400 22.500 19.400 22.500 | 19.400 22.500 00 | 19.400
[ J 22.500 20.500 22.500 20.500 22.500 | 19.400 22.500 00 | 19.400
[ J 22.500 21.100 22.500 21.100 — 22.500 | 19.400 — 22.500 1.500 | 19.400
J — 22.500 21.600 — 22.500 21.600 — 22.500 | _19.400 — 22.500 21.500 | 19.400 —




MEEEISI21 SEEXR(12B1~13BEED)

EEBEAB 2018/11/14 ~
12/1-13
=40} B2 FEIMTE
%
R CHE) =% #5) RR(PE) R |_JL565 900, £:15.600. H:15.900
JL567 :
JL569
i Al 5 JL562 .
JL564 700 | _70%
JL566 200 | 75%
R CRE) =R HR(PE)F |_JL551 .000 70%
JL553 500 | 65%
JL555 500 | 65%
JL557 500 | 62% . 00 .
JIES JL552 400 | 67% | A% H:14.400. £:15800
JL554 100 | 70% 600, £:11.500. £:13.100, H:15.500
JL556 500 | 69% :
JL558 600 | 71%
R CRE) =8I ECACT D E NS .000 72% [ %15,
JL543 900 | 52% [A%:19.100 _
JL545 800 | 70% [7K:14.300. :13.600. £:14.500. H:16.900
FEES JL540 100 | 69% |A:14.000. +:14.800. H:14.700
JL542 500 | 64%
JL544 100 | 69%
IR CRB)=#HIK HR(CRE) % |_JL573 .200
JL575 400
JL577 400
JL579 200
HILR JL570 100
JL572 500
JL574 500
JL576 500 | 68%
FR CRE)=EfE HR(FE)F |_JL585 .100 65% | E:
JL587 300 | 65% [&:
JL589 700 | 53% |2 X
B JL584 5000 | 60% 500, %:15.700, £:16.200. H:16.300
JL586 3800 | 63% |+:14.400. H:18.100
JL588 7700 | 53% 2
RRCAB)=ES RRCAE)f [ _JL253 .900 62%
JL255 000 | 49%
JL257 500 | 47%
JL259 000 | 51%
JL261 900 | 62%
JL263 900 | 62%
JL265 900 | 57% 500, E:12.
JL267 400 | 58% 17.000. £:12.100
LEB% JL252 .600 61%
JL254 400 | 53%
JL256 900 | 62%
JL258 500 | 64%
JL260 600 | 55%
JL262 200 | 56%
JL264 400 | 50%
JL266 400 | 50%
RR(CRE)=K5 RRERCPH)H |_JLe61 .400 42%
JL663 25900 | 39%
JL665 25900 | 39%
JL667 25900 | 39%
JL669 25900 | 39% 21
JL671 25400 | 40% 26,000 %
EX JL662 17.400 59% |1:19.300
JL664 15800 | 63% [A=H:16.100. £:18.300
JL668 20300 | 52% (:19.900. K:19.400. A:19.000. £:20.700
JL670 16700 | 61% 18.500
JL672 21,300 | 50% 20,300, H:23.100
JL674 20900 | 51% 9,100, H:23.100
AR CRE) =Ki& BRCRE) % |_JL605 20.500 56% 2:14.400
JL607 26500 | 43% 9,500, £:21.300
JL609 25300 | 45% 19.900
JL611 25300 | 45%
JL613 25900 | 44%
JL615 25900 | 44%
R JL606 19.400 58%
JL608 18.600 | 60%
JL610 19.400 | 58%
JL612 20900 | 55% [E
JL614 17500 | 62% [H:
JL616 16,800 k:
RR(CRE) =R RRCRE)$ |_JL623 25,900 7]
JL625 24,300 ES
JL627 24,300 *
JL629 25,900 7
JL631 25,900 7
JL633 25,900 7
JL637 17700 | 59% |%
JL639 25900 | 41%
AR JL622 ,500 55%
JL624 500 | 55%
JL626 200 | 65%
JL628 200 | 65%
JL630 20000 | 54%
JL632 16700 | 62%
JL634 20000 | 54%
JL638 15200 | 65% [
R CRR) =58 RRCAE) R | JL687 26,500 39% |7}
JL689 26,500 | 39% |7}
JL691 25,900 7K:27,300, A:21,500,
JL693 25,900 7K:27,300, A:21,000, .
JL695 25,900 7K:27,300, A:21,000,
JL697 25,900 7K:27,300, A:20.400, £:21.500
EE JL688 ,600 7K H:19.400, £:19,500, 1:20,400
JL690 200 7 20,400
JL692 700 8 17,200, £:17.500, H:18,000
JL694 700 A: 00, %:17.700, H:19,000
JL696 20,700 £:21,900, £:18,300, H:22,000
JL698 19,600 £:21,900, £:18,200, H:22,000
RRCAEB)=ERS RECPAE)H | JL6dl 26.400 7K:28,000, 7:19,400, £:17.700
JL643 27,100 7K:28,000, A:19,900, %:21.300
JL645 27,100 [7k:28.000, 21,300
JL647 25,500 [ 4:25,300, 7K:26.700. A:17.700. %:19,200
JL649 25,900 7K:28,000, A:21,000, %:19.700
JL651 25,900 7K:28,000, A:21,500, %:19.700
JL653 25,100 7K:27.300, A:18.200, £:20.100
JL655 25,500 7K:27.600, A%:19,500. H:25400
ERBR JL640 200 7KH:19.400, £:18,100. +:19,700
JL642 600 219,500, £:20,100
JL644 ,600 7 £:19.900, £:20.100
JL646 200
JL648 700
JL650 20,100
JL652 19,500
JL654 19,500
B (80 =AU (37 T 3| & 52 (P8 56| JL3103 20,900
JL3105 20,600 3,800, +:24.800
JL3107 800 .900
JL3115 .900 14,000
JL3117 300 2,900, H:14,000
ALOR (HF %) 5| _JL3100 .900 14,000
JL3106 800 :14,900
JL3110 20,500 7,600, £ H:27,200
JL3114 21,200 1,700, %:25.300, £:22,900
JL3118 18,800 £ H:19.400

JAL



EEEMAR ;- 2018/11/14 ~

MEHEZI5I21 1 EEXR(12814~20B B8RS

12/14-20
=40} B2 FEIMTE
%
BRCRE)=ki#E5] HR(PE)F |_JL565 .100, H:15.400
JL567
JL569
i Al 5 JL562
JL564
JL566
RE(PE)=HI RRCPE) % |_JL551 15.600. H:14.900
JL553 17.100. H:16.400
JL555
JL557 X 15,500, H:16.500
JENTES JL562 .000 68% 100, .000
JL554 500 | 67% 00, +:15.000, H:17.600
JL556 800 | 68%
JL558 300 | 69%
R CRE) =8I ECACT D E NS .000 72% |14, B:13
JL543 900 | 52% [A%:19.100 _
JL545 300 | 69% [A:13600, £:13.800. £:14.500, H:16.900
FEES JL540 100 | 69% |A:14.000. £:14.800. H:13.600
JL542 500 | 64%
JL544 100 | 69%
IR CRB)=#HIK HR(CRE) % |_JL573 .200
JL575 400
JL577 400
JL579 200
HILR JL570 100
JL572 .200 4
JL574 200 4 . H:16.000
JL576 500 | 68% 700, £:13.400, H:16.000
FR CRE)=EfE HR(FE)F |_JL585 .100 65%
JL587 300 | 65%
JL589 700 | 53%
= JL584 4.500 61%
JL586 3.800 | 63%
JL588 7700 | 53%
RRCAB)=ES RRCAE)f [ _JL253 .400 58%
JL255 000 | 49%
JL257 500 | 47%
JL259 000 | 51%
JL261 400 | 53%
JL263 200 | 56%
JL265 900 | 57%
JL267 400 | 58%
LEB% JL252 .600 61%
JL254 400 | 53%
JL256 900 | 62%
JL258 500 | 64%
JL260 600 | 55%
JL262 200 | 56%
JL264 100 | 48%
JL266 100 | 48%
RR(CRE)=K5 RRERCPH)H |_JLe61 .400 42%
JL663 25900 | 39%
JL665 25900 | 39%
JL667 25900 | 39%
JL669 25900 | 39%
JL671 25400 | 40%
EX JL662 17.400 59%
JL664 19.500 | 54% £:21.300. H:19.300
JL668 20300 | 52% . (:19.900. /K:19.400. A:19.000. £:20.700
JL670 17.700 | 58% | H:17.500. A:17.400
JL672 21300 | 50% |4 20,300, H:23.100
JL674 20900 | 51% 9
R (PE) =R WA CRIE) & | _JL605 20500 | 56%
JL607 26500 | 43%
JL609 25300 | 45%
JL611 25300 | 45%
JL613 25900 | 44%
JL615 25900 | 44%
R JL606 .400 58%
JL608 600 | 60%
JL610 400 | 58%
JL612 700 | 62% |A:
JL614 7700 | 62% [H:
JL616 6,800 4% |71
R (PE) =X HRCHE) % [ _JL623 25,900 1% |7
JL625 24,300 TES
JL627 24,300 2% [l 2
JL629 25,900 1% |7 :21,500, .
JL631 25,900 1% |7 :21,500,
JL633 25,900 1% |7 1,500, %:19.400
JL637 17700 | 59% ,900, %:18,200, £:16,800, H:19,500
JL639 25900 | 4% |k 400, %:20,700
AR JL622 9,500 55% |+ 9,400
JL624 7200 | 61% [H: . 15,900, A:15.200, %:16,400, £:17,900
JL626 8.400 58% | N&:17,400, A:16,800
JL628 7300 | 60% | “JK:16,100, A:17.800. H:17,500
JL630 20000 | 54% |%:19,500, +:19.400
JL632 17.700 | 59% [H: 18,200, 16,600, H:18,000
JL634 20000 | 54% [£:20,400, 200, H1:21,400
JL638 15200 | 65% | 214,700, /K:16,100, 7:15,500, £:17,800. E:14.900. H:17.600
R CRR) =58 RRCAE) R | JL687 26,500 39% |7} 18,500
JL689 26500 | 39% |7} 20,700
JL691 25,900 7K:27,300, A:21,500, %:20,700
JL693 25,900 7K:27,300, A:21,000, %:19.700
JL695 25,900 7K:27,300, A:21,000, .
JL697 25,900 7K:27,300, A:20.400. .
EE JL688 8,600 7} 400, 19,500, X
JL690 7700 | 59% :17.500, X:18,500, £:18,700
JL692 8800 | 57% [} ,900, 19,100
JL694 7700 | 59% [ 16,600, 1200, £:17,500
JL696 20700 | 53% [%:21,900, +:18,300. H:22.000
JL698 18500 | 58% |2
RRCAEB)=ERS RECPAE)H | JL6dl 26.400 43% |7} 7.900
JL643 27,100 | 41% ] 1,300
JL645 27,100 | 41% |7} 1.300
JL647 25500 | 45% |H:2 7900, %:19.200
JL649 25900 | 44% |7K:28,000, A:21,000, %:19.700
JL651 25900 | 44% |7K:28,000, A:21,500, %:19.700
JL653 25100 | 46% |7K:27.300, A:18,400. %:20.100
JL655 25500 | 45% |7K:27.600, A:19,300, £:19.500, H:25.300
ERBR JL640 200 61% [/KH:19.400, £:18.100. +:19.700
JL642 600 | 60% |£:19,500. £:20,100
JL644 600 | 60% |7KH:19.400, £:19.900. £:20,100
JL646 600 | 73%
JL648 700 | 68% |H:16,300, £:18,400
JL650 20100 | 56% |%:20,800, £:18,400. H:21.300
JL652 13400 | 71% H:14,400
JL654 12,600 73% 2,900, H:13.900
B 5 (R ER) =ALIE (B T | 2 & 2 (&) 36| JL3103 20,900 53% 4,300, £:25,300
JL3105 20600 | 53% 3,800, +:24.800
JL3107 800 | 71% :14,900
JL3115 900 | 73% 14,000
JL3117 800 | 76% 2,900, H:14,000
ALOR (HF %) 5| _JL3100 .900 73% 14,000
JL3106 800 | 71% :14,900
JL3110 20500 | 54% 7,600, & H:27,200
JL3114 21,200 | 52% 1,700, %:25.300, £:22,900
JL3118 18800 | 58% | H:19.400

JAL



MEHEZI5I21 1 EEXR (12821 ~28BERS)

EEBEAB 2018/11/14 ~
@7 E |22 12/22 12/23 12/24 12/25 12/26 12/27 12/28
=40 Bg | FHEMTE | BEMMTE | BEMIE | BEMIE | BEMIE | HEIMIE | BENMIE | HEMIE
EEE EEE AR AR AR AR AR A
KIR (D =4LIR (3 F#8)| KIR(FFHF | JL2001 zl 27.100 | 19.500 |
[JL3911 25,800 20,000
[ JL2005 25,800 20,000
[JL3917 11.700 13.200
[ JL2009 11.700 13.200
JL2019 22,900 20,000
FUBL (B F &%) 3¢ |_JL2000 2,600 800
[JL3912 700 200
[ JL2006 600 000
[JL20 100 22.300
[JL39 100 22.300
JL20 100 22.300
KR () =5 RF) | KB () % | JL39 300 26.100 -
[JL208 300 7.300 7.
JL208 600 600
R (IR 3¢ | JL3942 100 100
[ JL2084 600 600
JL2088 300 300 .
FERCRE)=k#5 HR(PE)F |_JL565 .400 .400 20.
[ JL567 300 300 21,
L569 200 300 20,
TmAsE | _JL562 100 700
[ JL564 700 700
L566 400 800
FR CRE) =Rl HR(PE)F [ _JL551 .500 .000
[ JL553 400 000
[ JL555 500 1400 E .
L557 500 7.400 7. 7.
JBII%E | _JL552 700 5.400 7.
[ JL554 700 7.500
[ JL556 300 .900
L558 100 700
SR CRE) =8I HR(PE) L! .000 .300
L 100 .900
L 800 500
I3 L 400 .200
L 900 7.400
L 800 100
R CRB)=#HIE HR(PE) R L! .500 .800 X
L57 400 .700 . 7.
L57 400 700 7. 7.
L57 .000 .200 7. 7.
E733 L57 200 700 7. 7.
L57. 800 .400 7.
L57. 800 .400 7.
L57 700 300
G FR(CRE)$ |_JL585 .900 .100
[ JL587 600 .200
L589 20.500 .900 .
WER | _JL584 5.400 .200 7L
[ JL586 4.800 100 5,
L588 7.700 20.900 7.
RR(CAB)=E8 FR(CRE)$ |_JL253 .600 .100
[ JL255 .000 100
[ JL257 500 100
[ JL259 .000 100
[JL261 .200 100
[ JL263 .400 100
[ JL265 500 600
L267 7.000 100
BB | _JL252 6.200 100
[ JL254 7.400 100
[ JL256 7.900 100
[JL258 500 500
[ JL260 100 100
[ JL262 100 100
[ JL264 100 100
L266 20.100 100 X X
RRCRE) =B RERCRE) % L491 .000 .200 20 20
L493 300 7.200 21,600 20.800
[JL495 800 9.100 20.100 20.100
L497 .800 20.100 7.800 7.800
L499 20.800 20100 9.900 9.900
EEIFE [_JL490 ,800 16,300 8,800 8,800
[JL492 800 17,800 7,800 7,800
L494 800 19,000 5,000 5,000
[ JL496 400 20,700 8,700 8,300
L498 400 20,700 8,700 8,300
R (PE) -8 Fm CHE) % |_JL605 400 19,500 20,600 22,500
[ JL607 1300 26,500 26,500 28,000
[ JL609 20,000 25,300 25,300 27,300
L611 20,000 25,300 25,300 27,300
L613 1300 25,900 25,900 28,000
L615 1300 25,900 25,900 28,000
KW | _JL606 500 19,900 19,400 20,400
L608 500 19,000 18,600 18,800
L 500 20,400 18,300 19,400
L 20,900 21,900 20,900 20,900
L 20,900 21,900 20,900 20,900
L 18,900 18,300 16,300 16,400
KR (73) =EE8 KBR (R % L212 31,000 29,500 31,200 31,700
BT L212 29,300 600 29,300 29,300
AT KIR (75 5 |_JL220 20,300 ,900 700 22,800
[ JL220: 21,600 ,900 700 22,800
[ JL2205 20,700 1400 1400 21,400
[ JL2207 1600 1800 1600 20,700
[ JL2209 600 100 ,900 ,000
L2211 100 22,200 20,300 ,400
L2213 100 22,200 20,300 ,400
L2215 100 20,000 ,000 ,000
&%k [ JL2200 ,000 ,000 ,000 ,000
[ JL2202 400 ,000 800 ,900
[ JL2204 ,900 700 200 300
[ JL2206 ,900 700 200 300
L2208 20,300 20,100 ,900 ,000
L22 600 21,100 400 400
L22 1600 21,100 7.400 7.400
L22 ,000 20,500 6,200 5,300
PNACIOE ) KR ()% | JL22 400 17.400 7.400 7.400
[ JL224; 400 19,900 9,900 9,900
[ JL224 400 17.900 7.900 7.900
L225 20,200 20,200 700 700
R [ JL224 000 7,900 000 000
[ JL224: 600 400 400 400
[ JL224i 600 400 400 400
L2250 600 400 400 400
B (R E8) =ALWL (3 T Y| & & /& (P ER) 36| _JL3103 300 300 20,900 20,900
[ L3105 800 300 20,600 20,600 20,600
L3107 900 ,300 20,600 500 9,300
L3115 000 500 ,000 ,600 8,400
L3117 000 500 ,000 500 7,200
FLIR (T2 3 |_JL3100 000 100 ,000 ,500 5,800
[ JL3106 000 500 ,000 400 6.700
L3110 22,300 700 200 1.200 20,200
L3114 25,300 ,900 200 1.200 21,200
L3118 19,700 20,400 20,400 700 9,700 19,700

JAL



MEHEZI5I21 1 EEXR(12829~31 BERS)

EEBAA : 2018/11/14 ~
N 12/29 12/30 12/31
= T s rE | BEsIE | BESIE

mam | smm | wam
KGR ARG TR XE (G % [ IL2000 32300
[ JL3911 31.200
[JL2005 32.300
[ JL3917 30.800
[_JL2009 30.800
JL2019 28.000
TR (T ) 56 [ L2000 21.900
[ JL3912 21.900
[JL2006 20.900
["JC201 900
[JC391 900
JL201 .900
R (BB ARG 78| KB (B % [ JL250 300
[ JL2503 29.800
JL2505 26.000
TR T ) B [ L2502 500
[ JL2504 .900
JL2506 .500
K (G -G | KW ()5 | JLa0d] 200
[ JL2081 .600
JL2087 .100
SR 3 | JLo042 600
[ JL2084 .200
JL2088 .300
TRRE) BB | REGIEE [ _JLe0s 100
[JL607 000
[JL609 000
L611 .000
L613 .000
L615 .000
R [ JL606 20.800
L608 19.900
Lf 20.800
Lf .900
Lf .900
.900
AR B | AR EmE e 000
RS JL212: 26.500
XEGEM-WE | AR E |20 19400
[_JL220: 21.000
[ JL2205 21.700
[ JL2207 20.700
[ JL2209 20.700
JL2211 22.200
22.200
21.100
=3 22.000
25.800
25.800
21.000
22.500
22.000
22.000
2.000
XEGH R | REGME [J 00
.800
100
AR 300
.800
.300
.900
B (T ED) FLE (B A B 5 (80 3| JL3 20400
29.400
26.700
25.800
EXEIEE3E I 5.500
5.900
7.900
7.900
5.900

JAL



TEZISI21 1 EEXROAI~THEED)

EEBEAB 2018/11/14 ~
B E 1L /2 173 /4 175 176 /1
4] % FEIMIE | WEIMOE | HEMIE | BEIMIE | HEMIE | HEIIE | BEMIE
KBR(BFD) =4LIR (B F )| KBR (B [ JL2001 =] .600 00 20.600
[JL3911 800
["JL2005 800
[UL3917 700
["JL2009 700
JL2019 800
FLIR (37 F %) 6 [_JL2000 000
[UL3912 300
["JL2006 800
["JL201 100
[UL391 100
JL201 26.100
KR (BEEE) =4LIR (B F )| KB (B3FE) & [ JL250 .600
["JL2503 400
JL2505 700
R F ) 5 JL2502 500
["JL2504 900
JL2506 26.100
KBR (75D =0l () | KRR R | JL3941 21.500
["JL2081 26.100
JL2087 900
TR (BB 3 | JL3942 800
["JL2084 300
JL2088 100
HECAB)=LES HR(PE)F | _JL253 .600
[ JL255 500
[JL257 500
L259 500
[ JC261 400
[ JL263 200
L265 900
L267 400
RB¥x | JL52 600
[ JL254 400
[ JL256 400
[ JL258 400
[ JL260 300
[JL262 300
[ JL264 100
L266 100
FRCRE) =R HR(PE)F |_JL605 .000
[JL607 26.500
[ JL609 25.300
L611 25.300
L613 25.900
L615 25.900
R&%E | _JL606 20.400
L608 9.700
L 7.400
L 7.900
L 7.900
L 4,900
KR (7 5) =mate Kl (RF) % | JL212 1.200
BT L212 29.300
KR (D =HlE KR (5 & | JL220 .000
[JL220: .000
(L2205 ,000
(L2207 400
(L2209 400
L2211 .000
L2213 .000
L2215 .000
WE%E [ JL2200 .000
(L2202 1900
(L2204 300
(L2206 300
L2208 300
L22 000
L22 400
L22 300
KR (D) =38 KR (5 & | JL22 .000
[JL224: 600
[JL224 500
L225 ,100
FRRE [ JL224 700
[ JL224 ,100
[ JL224 ,100
L2250 100
B & (R ED) =ALIE (BT Y| %EE(\‘-PEI!)%_—__‘;S . gg
L3105 R
L3107 400
L3115 ,400
L3117 ,400
ALIR (B F i) 5| _JL3100 ,600
3106 20,800
L3110 21,700
14 24,400
L3118 21,700 28,600 29,900 29,400 29,900 28,500 18,300

JAL



EEEAR

2018/11/14 ~

MEEZIS21 1 EEXR(1AS~10BEBESD)

=40]

Ea

1/8-10

BEMIE

R CRE)=18R

R CRE) %

JL303

%5

JL305

JL307

JL309

JL311

JL313

JL315

JL317

JL319

7K:25.900

7K:21.900

7K:20.100

JL321

JL323

JL325

JL327

JL329

JL331

JL333

JL335

22,400

22,400

22,400

23,100

[EEES

JL300

JL302

R Y 1 Y

20.900

JL304

JL306

JL308

JL310

JL312

JL314

JL316

JL318

JL320

JL322

JL324

JL326

JL328

JL330

JL332

KR (BAEE) =AL#% (37 F %)

KR (BAEE) %

JL2501

7K:21.400

JL2503

JL2505

AL (B F i) %

JL2502

7k:10.100

JL2504

JL2506

KR (751) =ik (AR %)

ENACES

JL2081

JL2087

7K:21.400

7K:25.100

ik (RER) R

JL2084

JL2088

7K:25.900

RRCPE)=&injl

RRECPE)#

JL565

JL567

JL569

S FES

JL562

JL564

JL566

RECAR)=LES

RRECPE)#

JL253

A:14.600

JL255

JL257

JL259

JL261

JL263

JL265

A:17.400

JL267

A:16.900

EB%

JL252

JL254

JL256

JL258

JL260

JL262

JL264

JL266

AR CRE) =Ki&

RRECPE)#

JLB05

JLB07

val
o
S|
S|

JLB09

JLB1T

JL613

JLB15

R

JLB06

.000
.000. A&:17.000

JL608

JL610

RSP Y [ (N Y Y
ol
S|
S|

20,500

JL612

A:18,500

JL614

A:18,500

JL616

JAL



EEEAR

2018/11/14 ~

MEEEIS121 SEEXR(1A15~21BERED)

=40]

Ea

1/15-21

BEMIE

KB (BEEE) =ALIR (37 F %)

KR (BAEE) %

JL2501

%5

JL2503

JL2505

£ H:13.000

7K:21.400, £1:21.300, H:16.800

£ H:11.500

ALIR G FiR) 5

JL2502

JL2504

1 H:19.200

JL2506

KBR (753) =ik (R ER)

KR (£751) %

JL2081

JL2087

| H:20.900. 7k:25.100. £:26.500. 1£:26.500

:21.300. 7K:21.400. £:20.700. £:19.200

iR (RER) R

JL2084

JL2088

RRCAB)=ES

R CRE) %

JL253

JL255

JL257

JL259

JL261

JL263

JL265

JL267

LEB%

JL252

JL254

JL256

JL258

JL260

JL262

JL264

JL266

R CRE) =Ri&

R CRE) #

JLB05

JLB07

JLB09

JLB1T

JL613

JLB15

R

JLB06

JL608

JL610

JLB12

JL614

JLB16

R CRA)

R CRE) %

JL623

K:18.500, %1600
16,800, H:20.300

.400
7.800, 1:20.000, H:17.400
18.600

9500, £:19.200. 5:20,000
1.900

:16.600

JLB25

JL627

JL629

:16.100
:19.500, H:17.400

JLB31T

JL633

JLB37

JL639

JL622

JL624

JLB26

JL628

JLB30

JLB32

JL634

JL638

RRCAEB)=ERS

RRECPE)#

JLB4T

:19.400

:17.000

JL643

JLB45

JL647

:17.000

:17.700

JL649

JLB51

:18.800. H:19.200

:18.800. H:20.400

JLB53

JLB55

ERBR

JL640

JL642

JL644

:20.700
9.600, +:17.700, H:19.900

JLB46

JL648

JLB50

21,400, £:20800. £

JLB52

(% H:19.000, +:17.000

7.700, H:21.300

JLB54

'qA

£ H:19.000, 1:17.000

JAL



MEEEIS121 SEEXR(1A22~31BERED)

EEBEAB 2018/11/14 ~
1/22-31
=40} B2 BEMIE
B
P ooic
KR (BAEE) =#LIR (31 F#%)| KIR(BA&E) % | JL2501 X 59% | H:16.800, K:21.400, £:21,300, F:21.300
JL2503 10700 | _77% |+ H:13.000
JL2505 9.700 79% |+ H:11.500
ALIR B F %) 56 |_JL2502 9,300 80%
JL2504 400 | 78% | H:19.200
JL2506 000 | 59% |H:21.300, 7K:21.400. £:20.700. £:19.200
KR (=4 FR8) | KRGFM % [ L2081 600 | 39% |H:20.900. k:25.100. £:26.500. *:26.500
JL2087 400 | 73% 1,50
TP (RE) | _JL2084 400 73% 1.50
JL2088 300 | 37% :25.900, H:27.300
RRCRB) =K HR(CRE) % |_JL573 .000 63% 8,600, £:20.700, H:16.300
JL575 900 | 58% 8700, +:18.800. H:18.900
JL577 100 | 58% [2:+:18.800. H:19.100
JL579 700 | 57% 9.800, +:17.900. H:21.900
WIRF JL570 800 | 56% 9300, +:22.800. H:18.100
JL572 800 | 59% [J1
JL574 7.800 | 59%
JL576 300 | 62%
RRCAB)=ES RRCAE)f [ _JL253 .900 60%
JL255 500 | 4%
JL257 500 | 4%
JL259 000 | 48%
JL261 900 | 60%
JL263 900 | 60%
JL265 900 | 51%
JL267 400 | 53%
LEB% JL252 .600 58%
JL254 400 | 50%
JL256 900 | 60%
JL258 900 | 60%
JL260 900 | 60%
JL262 600 | 52%
JL264 100 | 45%
JL266 100 | 45%
FR(CRE)=X5 HR(HE)H [_JL661 20.200 49% R
JL663 17500 | 56% 8,000, +:19.500
JL665 20700 | 48% :21.900, £:20.900. £:21.300. H:19.000
JL667 7500 | 56% 18.000
JL660 9100 | 52% 0.200, £:21.300_£:18.600, H:23.800
JL671 8600 | 53% 9500, A:19.700, %:21.300. £:17.800, H:20.700
K55 JL662 7400 | 56% |JKA:18.500, £:19.300
JL664 8000 | 55% 8500, +:19.500. H:17.500
JL668 7500 | 56%
JL670 7500 | 56%
JL672 1.300 | 47% 20,300, H:23.100
JL674 20900 | 48%
RR(CRR)=RIK RRE(CPHE)F |_JLe05 7.300 60%
JL607 8000 | 59%
JL609 7.800 | 59%
JL611 7.800 | 59%
JL613 7.000 |_61%
JL615 7.000 | 61% [JKA :20.400
RER JL606 000 | 59% I 7800, £:20.000. H:17.400
JL608 300 | 56% KA 000, H:18.600
JL610 000 | 56% [A:7. 9500, £:19.200. H:20.000
JL612 20900 | 52% 00
JL614 8000 | 59%
JL616 8300 | 58%
RR(CRE) =R BRCRE) % |_JL623 7.500 57%
JL625 000 | 54% |4
JL627 000 | 54% [
JL629 700 | 55% |41
JL631 700 | 55% |41
JL633 600 | 60% [ £:18.100. H:18.000
JL637 700 | 57% |4 200, +:16.800. H:19.40
JL639 7300 | 58% [k 0. A:19.000. %:20.700. £:17.100. H:20.000
REARF JL622 9.500 53% [K 800, B:17.900
JL624 20.200 1% K :17.300
JL626 17.500 7% A 7.400. % £:17.300, H:17.200
JL628 16.100 1% |7 00
JL630 20,000 1% _|J
JL632 7.500 7
JL634 7.500 7
JL638 800 | 59%
RRCAB)=-ERE | ®RR@HEH [_Jedl 500 7 119,000, H:17,000
JL643 ,900 4% |71 > £:21,300. H:17.000
JL645 ,900 4% |7l :21,300, H:17.700
JL647 500 7 8,800
JL649 700 59% |7} :19,700, 1:18,800, H:19.200
JL651 7,000 | 61% [} 9,700, %:18,800. H:20.400
JL653 20100 | 54%
JL655 500 | 67% [A
ERER JL640 100 | 58% |7
JL642 600 | 57% |4
JL644 600 | 57% |4
JL646 900 | 59% [}
JL648 4,500 7 500, £:17.900, H:19,300
JL650 20,100 4% | JKA:21,400, £:20,800, £:17,700, H:21,300
JL652 14,500 7% £ H:19,000, £:17.0
JL654 14,500 7% |% H:19,000, £:17.000

JAL



TEEZISI21 1 EEXR(QA1~3BEED)

EBEEAA 2018/11/14 ~
2/1-3
=40} B2 FEIMTE
%
KR (BAEE) =#LIR (31 F#%)| KIR(BA&E) % | JL2501
JL2503
JL2505
FLIR (37 F %) 6 |_JL2502 ¥
JL2504 55% 20.200
JL2506 51% |+:20.800. H:24.000
RRCAB)=ES R (FE) [ L2563 62% 600
JL255 62% 500
JL257 62% 500
JL259 62% .000
JL261 62% 200
JL263 62% .900
JL265 64% 400
JL267 65% 000
LEB% JL252 62% 600
JL254 62% 400
JL256 62% .900
JL258 62% .900
JL260 62% .900
JL262 62% .900
JL264 62% 500
JL266 62% 500
R CRR) =Ri& FR(CPHE) % |_JL605 58% [+:18.900, H:17.200
JL607 48% .900
JL609 49% [ £:21.100
JL611 29% | £:21.100
JL613 8% 000, H:21.700
JL615 8% 000, H:21.700
R JL606 56% .200, H:18.400
JL608 0__
JL610 H:21.200
JL612 H:23.300
JL614 H:23.300
JL616 H:21.700

JAL



MEEEISI21 EEXR(2A12~18BERED)

EBEEAA 2018/11/14 ~
2/12-18
=40} B2 FEIMTE
&
KB (BEEE) =4LIR (B F )| KB (B#E) 5 [ JL2501 4,000, H:18.900
JL2503 :13.000
JL2505 1.500
HLIR (BT F %) 5 |_JL2502 600
JL2504 400 | 78% |£:20.200. I H:20.800
JL2506 .400 0.800. H:24
RRCAB)=ES RECHE) % [ JL253 .900
JL255 .500
JL257 .500
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700 | 67%
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.900 | 66%
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9.900 77%
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400 | 66% |/ :13.100, H:16.500
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300 13.800, A:14.100, %:14.900. H:14.500
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400 100, H:16.300
400 | 7 B: 100, H:16.300
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400 | 69% 500, H:16.300
S 500 | 67% 400, &:14.300. £:16.000. H:13.800
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10.900 76% |7K:12.700. £ H:11.200. +:13.200
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ERER 9.000 80% :10. :
11.200 76%
9.700 79% B
10.200 8% A .
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500 82% |+ H:10.600
.000 83% |+ H:8.600
HLIR (BT F R 5 000 83%
700 81% | JKA:9.000
11600 | 75% [H: K:13.100. %:13.000, £:11.700
RRCAE) =K@ | RRRE R | J 500 | 79% 110,600
900 | 79% :11.000
10.900 | 76% :12.100, B:11.400
ESTIES 700 79%
.400 80%
.200 80% :9.300. H:10.200
IR CRE) =#IE RRCRE) % 100 79% +11.800
11700 | 73% |13 +13.900, £:12,600. £:14.900, H:11.100
700 78% |£:10100. H:10.500
ElEES 7 10.100 | 77% [#:10.500. £:11.000. H:10.600
7 10400 | 76% [KA:11.500, % +:11.600. H:11.100
7 .800 78% [ £:10.100. H:12.200
RE(PE)=HK TR (PE)R 7 700 80% _|7k:9.700, :9.200, £ 18600, H:8.300
7 700 77% _|%:9.800, £:9.400, H:10.000
7 10.100 | 77% [£:10.200. £:9.800. H:10.400
7 11700 | 73% :10.900, +:10.200. H:13.200
ETR3 7 10.600 | 75% [/K:11.600. %:12.100. £:11.900, H:10.100
7 600 78% |%:10.300. £:9.700. H:10.500
7 .200 79% _|%:9.900, £:9.300, H:10.100
7 700 80% | Jk:9.400, £:10.700. £:8.400. H:10.200
FR CRE)=EfE RRPE)F [ J 7 10.700 T
7 100 77% . £ H:9.500
7 100 | 66% |/K7AK:12.800. %:14.200, £:11.800. H:13.600
B3 7 600 | 64% |2:13000. F:13.100, H:12.900
7 600 | 70% |+:10.100. H:12.500
7 400 | 65% |/KA:12.900, £:12.200, H:14.900
R (PE)=LES TR(PE)E[J 7 700 | 69% |AZH:11.000. £:11.100
7 300 | 59% [£H:11.100
7 300 | 59% [+ H:11.100
7 900 | 60% [+ H:11.100
7 8,000 77%
7 000 | 68% | Kk7KA:10.700
7 800 | 66% |H:10.100. £:12.300, £:9.600
7 300 | 67% |H:9.100, £:11.800. £:9.100
LB% 7 100 | 68% [%:11.300
7 800 | 63% |+ H:11.100
7 700 | 69% |%:10.800. £ H:10.500
7 8,000 77%
7 700 | 69%
7 500 | 64%
7 800 | 60% |%:14. 11,
7 .800 | 60% |%:14.300. £H:11.100
RR(CRE)=K5 ERCRE)S | J 7 9.900 75%
7 800 | 70%
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7 900 |66 100, £:11.300. H:12.000
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L 7 700 | 7 . £:12.200. B:13.700
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ERER L 7 800 200, £:9,600
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000 5,700, B:11.600
100 1.100
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.300
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7 100 | 70%
7 500 | 72%
FLIR (T iR) 59 7 .300 67%
7 900 | 63%
7 900 | 66%
7 300 | 67%
7 000 | 65% |
7 400 | 72% |
7 400 | 72% |4
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7 400 | 75% |2:10.500. H:12.000
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FEES L 7 200 | 77% |2
L 7 500 | 74% |2
L 7 300 79% |4
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L575 | 7 .900 77%
L577 | 7 .900 77%
L579 | 7 12.900 | 70%
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7 8,000 81%
7 11,800 | 72% [#+:13500. H:14,600
7 14,200 66% [A:14,600, & +:14,900. H:16.800. X:13.200
7 11,400 | 73% [#:12.900, £ H:13.200

JAL



TS %RBIEER(CA19~28AEES)

EEBEAB 2018/11/14 ~
2/19-28
P B4 FH YRS ER
BARIR AR ;’i [
RECRE) =R (FF&)| Rx(HE) % 6.400
6.400
7.500 E
500 7 113,900, £:14.400. £:17.300, H:10.900
600 | 64% |kl £:16.100. H:10.900
000 | 65% |&: :10.900
000 | 68% 5,700, B:11.600
100 | 7 1.100
100
100
100 [=H]
100 8
100
.300 £
.100 £
7 100 £
7 500 £
TR (BT 3 _J 7 300 ES
7 .900 £
7 .900 £
7 300 113.300, £:1
7 .000 K:13.600.
7 .400 K:10.800. % £:12.000. H:12.900
7 .400 12,000, H:13.900
7 200 3.600. +:12.600, H:14.800
7 900 :14.800
7 .900
7 .000
7 .000
7 .000
7 .300
7 .300
7 .400
7 400
KB (BAEE) =#L1R (3 F k)| KBk (BIE) % | J 7 13.800
7 .000
7 .200
LR T ) 3 7 200 8,000 £,
7 000 400, H:9.800
7 .400 113,500, H:15.400, £:14.900
TR PR -Kma | RRCHE) R | J 7 800 113.200, +:14.900. H:13.400
7 500 112900, £:14.600. H:13.100
7 100 +14.300. £:13.300
EST RIS 7 -300 .300
7 500 500
7 9,500 .400. H:11.400
R CRE) =18 )il EECEE I 7 9.800 1400, £ H:10.000
7 100 :14.300. B:11.700
7 1400 11.600
7 600 | 74% Pq H:12.700
JENIES 7 400 | 74% |+:11.800
7 9.700 78% | %£:0.800. H:10.000
7 9.900 78% 500 +:9.400. B:10.500
7 9,500 79% 100 £:9.000. H:10.100
FRCRE) =8I RERCRE) % L 7 .900 75%
L 7 000 | 70%
L 7 000 | 77% 600
FEES L 7 200 | 77% £:10.500. £:11.000. H:9.700
L 7 500 | 74%
L 7 300 79%
EEAC:E TN RERCRE) % L. 7 .200 79%
L575 | 7 .900 77%
L577 | 7 .900 77%
L579 | 7 12.900 | 70%
HILF L57 7 10.000 77%
L572 | 7 500 78%
L574 | 7 500 78% .
L576 | 7 10700 | 75% 14.700
G FRCPE)F|_JL585 | 7 10.600 70% 10.800
[ JLs87 | 7 9.600 73% |£:10.800. %:10.700. H:11.200
L589 | 7 800 | 64% |/KA:13500. £:15.200. H:14.600
R | _JL584 | 7 .200
[ JL586 | 7 .800 500, H:12.700
L588 | 7 ,900 £:13,500, H:15,700
AR (PE)=LS HRCFIE) % | JL253 | 7 400 | 70% |A2£:10800, £:11,100, H:11,000
[ JL255 | 7 300 | 59% |£H:11.100
[ JL257 | 7 300 | 59% [EH:11.100
[ JL259 | 7 ,900 | 60% | H:11.100
[ JL261 | 7 8,000 77%
[ JL263 | 7 000 | 68% :10,700
[ JL265 | 7 800 | 66% 600, %:12,300. £:9.600
L267 | 7 .300 67% :9,100, £:11,800, 1:9,100
LB | J252 | 7 100 | 68% 1,300
[ JL254 | 7 800 | 63% 11,100
[ JL256 | 7 700 | 69% 0,800, £ H:10,500
[ JL258 | 7 8,000 77%
[ JL260 | 7 700 | 69%
[ JL262 | 7 800 | 63%
[ JL264 | 7 800 | 60%
L266 | 7 800 | 60%
RR(CRE) =R RRCPE)$|_JL623 | 7 .800 7
[ JL625 | 7 500 | 7
[ U627 | 7 100 | 7 7 700, £:13,300
[Jr629 | 7 600 | 72% |4 2,900, B:11,800
L631 | 7 600 | 7 900, H:11,800
[ JL633 | 7 600 | 7 12,200
L637 | 7 ,000 7 ,200, A:12,100, %:13,300, H:13,700
L639 | 7 .800 7 .600,, 7K:12,200, %:13,900, H:14.200
AR | _JL622 | 7 600 | 7
[ JL624 | 7 000 | 7 B:
[ JL626 | 7 000 | 7 B
L628 | 7 700 | 7 F:12,000, 7k £:11,500, #:12,200, H:13,700
L 7 600 | 7 A:12,000, %:12,200, F:11,800, H:13,600
L 7 600 | 7 :13.900
L 7 600 | 7 3:13,900
L 7 200 | 70% 3:14,200
AR (PE-ERE | R (HE) % [_JL 7 8700 | 80%
L 7 8,900 80%
L 7 9,400 78%
L 7 10,600 | 76%
[ JL649 | 7 ,900 80%
[ JLes1 | 7 400 78%
[ JL653 | 7 ,900 80% |2 H:9.900
L655 | 7 ,900 80% % H:9,900
BERER L 7 ,700 80% | +:9,600
L 7 600 78%
L 7 ,900 80%
L 7 400 78%
L 7 600 78% 2,600
[ JL650 | 7 ,900 80% | H:9,900
[ JLes2 | 7 400 78% 10,400
L654 | 7 400 78% 10400

JAL
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R CRIE) =8IE& RRERCPE) & | JU

S L

EEACE:E TN RRERCPE) & | JLU

A CRIR) =B RRCPE)F | JL58S

S L584

RECAR)=LES R CRE) % |_JL253

BER 1252

RECRR)=X% R CRE) $|_JL661

EX L662
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ILNSERFRIEERGAI~TEERES) JAL

EE#EMAA . 2018/11/14 ~

3/1-7
P B4 FH ISR R
AR [ g =
RECRE) =R (FF&)| Rx(HE) % 6.400
6.400
7.500
800 113,900, £:16.500. £:17.800, H:11.300
800
500
500
600 | 7
600
600
600 [ZH]
600 8
600
.800 £
.700 £
7 700 | 7 £
7 000 | 7 £
TR (BT 3 _J 7 800 | 65% E3
7 100 | 62% £
7 100 | 62% £
7 500 | 64% £
7 600 | 66% 300, H:13.100
7 800 | 73% 600, £:13.200. H:13.500
7 800 | 73% 600, +:13.200. H:14.000
7 700 | 71% 14.100. £:13.200, H:14.800
7 400 | 66% 16.000. £:13.200, H:15.600
7 400 | 66% 16.400, £:13.200, H:15.600
7 600 | 7 900. H
7 600 | 7
7 600 | 7
7 800 | 7
7 800 | 7
7 000 | 75
7 000 | 75%
FERCRE)=k#5 RRPE)F [ J 7 100 17%
7 500 | 76%
7 600 | 74%
By TES 7 300 | 77%
7 500 | 78%
7 500 80%
o CRm) =18 )1l R (PE) R |_J 7 500 | 77% 800. H:10.600
7 1400 | 78% 11,600, H:10.600
7 300 | 76% [£:15.100, £:11.500. H:12.700
7 600 | 75% 11400, £:15.200. H:12.700
JENIES 7 500 | 75% 4600
7 500 | 77% 300, H:11.700
7 000 | 79% .200
7 9.600 79% .800
FRCRE) =8I RERCRE) % L 7 000 76%
L 7 000 | 72% |4
L 7 000 | 76%
ElEES L 7 300 | 73%
L 7 500 | 75%
L 7 1300 | 73%
EEACE:E TN RERCRE) % L. 7 9.800 78%
L575 | 7 100 | 76%
L577 | 7 100 | 76%
L579 | 7 800 | 72%
HILF L57 7 900 74% X
L572 | 7 100 | 78% .700. H:12.000
L574 | 7 100 | 78% .700, H:12.000
L576 | 7 100 | 76% [&: g
R (CRE)=EfE FRCPE)$|_JL585 | 7 .600 12% 4 . H:10.800
[ JLs87 | 7 9.600 74% _|£:12.200. £:12.500, B:11.200
L589 | 7 500 | _64% .000, H:15.400
R | _JL584 | 7 500 | 61% ¥
[ JL586 | 7 200 | 70% .000. H:13.200
L588 | 7 500 | 64
RR(CAB)=E8 FERCRE)F | JL253 | 7 .700 7
[ JL255 | 7 300
[ JL257 | 7 300 +H:13.000
[ JL259 | 7 900 | 62 4,300, £ B:13.000
[ JL261 | 7 8.000 8%
[ JL263 | 7 000 | 70% |K7KAK:10.700
[ JL265 | 7 ,800 :11,500, £:12,300, £:11,500
L267 | 7 .300 :11,000, £:11,800, F:11,000
LB | J252 | 7 100 11,300, £:11,800
[ JL254 | 7 800 3,000
[ JL256 | 7 700 $:10,800. F H:10500
[ JL258 | 7 8,000
[ JL260 | 7 700
[ JL262 | 7 800 3:13,000
[ JL264 | 7 ,800 3:13,000
L266 | 7 800 13,000
R CRE)=REX RRCPE)$ | _JL623 | 7 .900 2,700
[ JL625 | 7 1800 00
[ U627 | 7 800 | 7 7 0, £:13,300. H:13,100
[ U629 | 7 800 | 7 4 100
L631 | 7 800 | 7 100
[ JL633 | 7 800 | 7 & ,200
L637 | 7 100 | 7 B 0, 14,600, +:12,000, H:13,800
L639 | 7 ,000 7 B 00, 7k:12,200, £:14,100, B:14.300
FEAR | _JL622 | 7 800 | 7 4 0
[ JL624 | 7 100 70% K ,000, 13,600, £:13,800
| JL626 | 7 100 70% _|J ,000, £:13,600, £:13,800
L628 | 7 000 | 7 4 0
L 7 800 | 7 E2 200 H:13,800
L 7 800 | 7 4 :14.100
L 7 800 | 7 4 :14,100
L 7! 200 7. 7K:13,000, 15,500, H:14,200
AR PE-ERS | R (HE) % | _JL 7 8700 | 81% [+:10400
L 7 8,900 F] +:10.
L 7 9,400 8 ,900. £:10900
L 7 10600 | 77% [#%:10.800. H:11.100
[ JL649 | 7 ,900 81% &+ H:9.400
[ JLes1 | 7 ,400 80% |2+ H:9.900
[ JL653 | 7 ,900 1 0,400, F:9,400
L655 | 7 ,900 1 0,400, F:9.400
BERER L 7 700 1% |2 58,900, £:9.900
L 7 10,600 7 0,800, £ H:11.100
L 7 8,900 81 £ H:9.400
L 7 9.400 80" £ H:9.900
L 7 10,800 | 77% 1,100, £ £:11,600. H:14.200
[ JL650 | 7 9,400 80% |©+:9,000, H:10.900
[ JLes2 | 7 8,900 81% |@H:10400, £:9.400
L654 | 7 8,900 81% |©H:10400, £:9.400




LS %FIEER(BAS~14AEES) JAL

EE#EMAA . 2018/11/14 ~

3/8-14
P B4 FH ISR R
AR [ g =
RECRE) =R (FF&)| Rx(HE) % 6.400
6.400
7.500
800 113,900, £:16.500. £:17.800, H:11.300
800
500
500
600 | 7
600
600
600 [ZH]
600 8
600
.800 £
.700 £
7 700 | 7 £
7 000 | 7 £
TR (BT 3 _J 7 800 | 65% E3
7 100 | 62% £
7 100 | 62% £
7 500 | 64% £
7 600 | 66% 300, H:13.100
7 800 | 73% 600, £:13.200. H:13.500
7 800 | 73% 600, +:13.200. H:14.000
7 700 | 71% 14.100, +:13.200, H:14.800
7 400 | 66% 16.000, +:13.200. H:15.600
7 400 | 66% 16.400, £:13.200, H:15.600
7 600 | 7 900. H
7 600 | 7
7 600 | 7
7 800 | 7
7 800 | 7
7 000 | 75
7 000 | 75%
FERCRE)=k#5 RRPE)F [ J 7 100 17%
7 500 | 76%
7 600 | 74%
By TES 7 300 | 77%
7 500 | 78%
7 500 80%
o CRm) =18 )1l R (PE) R |_J 7 500 | 77% 800. H:10.600
7 1400 | 78% 11,600, H:10.600
7 300 | 76% |%:15.100. F:11.500, H:12.700
7 600 | 75% 11400, £:15.200. H:12.700
JENIES 7 500 | 75% 4600
7 500 | 77% .300. H:11.700
7 000 | 79% .200
7 9.600 79% .800
FRCRE) =8I RERCRE) % L 7 000 76%
L 7 000 | 72% |4
L 7 000 | 76%
ElEES L 7 300 | 73%
L 7 500 | 75%
L 7 1300 | 73%
EEACE:E TN RERCRE) % L. 7 9.800 78%
L575 | 7 100 | 76%
L577 | 7 100 | 76%
L579 | 7 800 | 72%
HILF L57 7 900 74% X
L572 | 7 100 | 78% .700. H:12.000
L574 | 7 100 | 78% .700, H:12.000
L576 | 7 500 | 77 g
R (CRE)=EfE FRCPE)$|_JL585 | 7 .600 72! 4 . H:10.800
[ JLs87 | 7 9.600 74 112200, +:12.500. B:11.200
L589 | 7 500 | 64 .000, H:15.400
R | _JL584 | 7 500 | 61 ¥
[ JL586 | 7 200 | 70% .000. H:13.200
L588 | 7 500 | 64
RR(CAB)=E8 FERCRE)F | JL253 | 7 .700 7 RE
[ JL255 | 7 300 £ H:13.000
[ JL257 | 7 300 +H:13.000
[ JL259 | 7 900 | 62 4.300. £ H:13.000
[ JL261 | 7 8.000 8%
[ JL263 | 7 000 | 70% |K7KAK:10.700
[ JL265 | 7 ,800 :11,500, £:12,300, £:11,500
L267 | 7 .300 :11,000, £:11,800, F:11,000
LB | J252 | 7 100 11,300, £:11,800
[ JL254 | 7 800 3,000
[ JL256 | 7 700 $:10,800. F H:10500
[ JL258 | 7 8,000
[ JL260 | 7 700
[ JL262 | 7 800 3:13,000
[ JL264 | 7 ,800 3:13,000
L266 | 7 800 13,000
R CRE)=REX RRCPE)$ | _JL623 | 7 .900 2,700
[ JL625 | 7 1800 3,700
[ U627 | 7 800 | 7 7 3700, £:13,300. H:13.100
[ U629 | 7 800 | 7 4 3:13,100
L631 | 7 800 | 7 3:13,100
[ JL633 | 7 800 | 7 3:12,200
L637 | 7 100 | 7 B 2,200, £:14,600, +:12,000, H:13,800
L639 | 7 000 | 7 A :11,800, 7K:12,200, &:14,100, H:14,300
FEAR | _JL622 | 7 800 | 7 :13.800
[ JL624 | 7 000 | 7 A ,600. £:13,.800
| JL626 | 7 100 70% _|J ,000, £:13,600, £:13,800
L628 | 7 000 | 7 0
L 7 800 | 7 A 200 H:13,800
L 7 800 | 7 E :14.100
L 7 800 | 7 E :14,100
L 7! 200 7. 7K:13,000, 15,500, H:14,200
AR PE-ERS | R (HE) % | _JL 7 8700 | 81% [+:10400
L 7 8,900 F] +:10.
L 7 9,400 8 ,900. £:10900
L 7 10600 | 77% [#%:10.800. H:11.100
[ JL649 | 7 ,900 81% &+ H:9.400
[ JLes1 | 7 400 80% |2+ H:9.900
[ JL653 | 7 ,900 1 0,400, F:9,400
L655 | 7 ,900 1 0,400, F:9.400
BERER L 7 700 1% |2 58,900, £:9.900
L 7 10,600 7 0,800, £ H:11.100
L 7 8,900 81 £ H:9.400
L 7 9,400 80" £ H:9.900
L 7 10,800 | 77% 1,100, £ £:11,600. H:14.200
[ JL650 | 7 9,400 80% |©+:9,000, H:10.900
[ JLes2 | 7 8,900 81% |@H:10400, £:9.400
L654 | 7 8,900 81% |©H:10400, £:9.400




TS5 RBEER(BAI5~20BEES) JAL

EE#EMAA . 2018/11/14 ~

3/15-20
P B4 FH ISR R
AR [ g =
RECRE) =R (FF&)| Rx(HE) % 6.400
6.400
7.500
700 116700, £:15.100. H:11.300
700 :
100
500
600
600 X
500 000, £:11,600. H:12.600
500 000, £:11.600. H:12.600
600
600
800 | 70%
600 | 68%
7 600 | 68%
7 000 | 70%
FLIR (T iR) 59 7 600 63%
7 100 | 60% [H:
7 100 | 60% [H:
7 300 | 62% [H:
7 500 | 64% [H:
7 500 | 71% [H:
7 500 | 71% [H:
7 200 | 69% [H: =1
7 000 | 65% | H:13.500, £:16.800. H:15.600
7 000 | 65% [AH:
7 500 | 69%
7 500 | 69%
7 500 | 69%
7 800 | 70%
7 800 | 70%
7 900 | 73%
7 900 | 73%
FERCRE)=k#5 RRPE)F [ J 7 600 76%
7 000 | 75%
7 700 | 74%
s ES 7 300 | 75%
7 500 | 76%
7 500 | 78%
FR CRE) =R RRPE)F [ J 7 700 17% |9
7 200 | 78% [J
7 300 | 76% |% 1,500, H:12.700
7 400 | 76% [J £:16.500, H:12.700
JIIES 7 500 | 75% |% 4600
7 500 | 77% [Y 11,300, £:10.100. H:11.100
7 9.500 80% |2 900. H:11.200
7 9.100 80% |2
FRCRE) =8I RERCRE) % L. 7 100 76% (9
L 7 700 | 70%
L 7 300 | 75%
ElEES L 7 200 | 74%
L 7 200 | 74%
L 7 100 | 74%
EEACE:E TN RERCRE) % L 7 9.400 79%
L575 | 7 100 | 76% K
L577 | 7 100 | 76% 100
L579 | 7 600 | 72% 00 £:11.000
HILF L57 7 900 74% 700
L572 | 7 100 | 78%
L574 | 7 100 | 78%
L576 | 7 500 | 77%
R (CRE)=EfE FRCPE)$|_JL585 | 7 600 69% :
[ JLs87 | 7 600 | 72% 3:12.800
L589 | 7 900 | 63% [H: 6.900, £:13.600
R | _JL584 | 7 500 | 59% |H 15.600
[ JL586 | 7 300 | 67% [+ 100
L588 | 7 600 | 61% [H: +16.200, £:14.000. H:15.100
e (PE)-LE FmCHE) % |_JL253 | 7 700 | 68% [H:10.700. 2 H:12.100. £:12.60
[ JL255 | 7 100 | 59% |H:14.700. £:13.100, +:13.000. H:12.600
[ JL257 | 7 100 | 59% |H:14.700. £ H:13.000
[ JL259 | 7 700 | 60% [H:13.900, £ H:13.000
[ JL261 | 7 000 78%
[ JL263 | 7 100 | 67% 1300, KK:11.700
[ JL265 | 7 700 | 66% 1500, H:12,200, £:11,500
1267 | 7 200 | 67% ,000. H:11,700, £:11,000
LB | J252 | 7 400 | 66% 100, +:12,900
[ JL254 | 7 700 | 63% 200, + H:13,000
[ JL256 | 7 100 | 67% |H:10.700, kIK:11,700
[ JL258 | 7 8,000 78%
[ JL260 | 7 1,700 | 68% |A:10,700. H:12,600
[ JL262 | 7 100 62% 2,800, #:14,700, + B:13,000
[ JL264 | 7 700 | 60% [+ H:13,000
L266 | 7 700 | 60% |4
RR(CRE) =R RRCPE)$ | _JL623 | 7 .900 7 2 3,700
[ JL625 | 7 800 | 7 g, 4,800
[ U627 | 7 800 | 7 7 4,300, H:14.100
[ U629 | 7 800 | 7 7
L631 | 7 800 | 7 7
[ JL633 | 7 000 | 70% [Y
L637 | 7 500 | 69%
L639 | 7 100 | 65% |A
FEAR | _JL622 | 7 800 | 71% |4
[ JL624 | 7 100 | 68% [k
[ JL626 | 7 100 | 68% [&
L628 | 7 000 | 70% 4
L 7 000 | _70% [Y
L 7 800 | 71% ]
L 7 800 | 71% |4
L 7 200 | 70% |4
AR PE-ERS | R (HE) % | _JL 7 8,700 81% [k
L 7 8,900 81% |7 ;
L 7 9,400 80% [7K:10,400, % H:9,900, £:10,900
L 7 10600 | 77% [/K:12,600. £ H:11,100, £:12.800
[ JL649 | 7 400 80% 8,900, 7K:10.900
[ JLes1 | 7 900 | 79% |A 9,400, JK:11,400
[ JL653 | 7 ,900 1% |7K:10,900.  H:10,400, £:9.400
L655 | 7 ,900 1% |7K:10,900. % H:10,400, £:9.400
BERER L 7 700 1% |k i
L 7 11,100 6% J
L 7 9,400 80% [
L 7 9,900 79% (5
L 7 11,100 | _76% |4
[ JL650 | 7 9,400 80% |
[ JLes2 | 7 8,900 81% |7 110,400, £:9.400
L654 | 7 8,900 81% |7k:10900, £ H:10,400, £:9,400




TS5 RB I EER(3A25~30BEES) JAL
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3/25-30
P B4 FH ISR R
AR [ g =
RECRE) =R (FF&)| Rx(HE) % 6.400
6.400
7.500
100 5100, %:16.600. £:19.300
100
500
500
600
600
600
600
600
600
.800
600
7 600
7 000
FLIR (T iR) 59 7 .800 :
7 .400 A:
7 .400 A:
7 800 A:
7 .900 A:
7 800 | 70% [AH: 600, £:14.500
7 800 | 70% [AH: 00, £:14.400
7 600 | 68% [H: 0. £:16.000. £:14.400
7 400 | _64% [H: 0
7 400 | _64% [H:
7 500 | 69%
7 500 | 69%
7 500 | 69%
7 800 | 70%
7 800 | 70%
7 900 | 73%
7 900 | 73% [£:13.
TR PR -Kma | RRCHE) 5 | J 7 600 | 76% |£:12.500, £:14.600
7 000 | 75% |£:12.900, £:14.300
7 700 | 74% |£:14.300, £:13.400
By TES 7 300 | 75%
7 500 | 76%
7 500 | 78% 0.800
FR CRE) =R RRPE)F [ J 7 700 17% 1.200
7 200 | 78% |#:11.200
7 300 | 76% |£:12.700, £:11.600
7 600 | 75% 11,400, £:12.700
JENIES 7 500 | 75% [+:12.000
7 300 | 78%
7 400 | 78% :
7 000 | 79% N0
FRCRE) =8I RERCRE) % L. 7 800 74% .700, £:16.600
L 7 700 | 70% 14.700. £:17.500
L 7 500 | 75% 12.200
ElEES L 7 800 | 72% 600, £:13.900
L 7 200 | 74% 13.600
L 7 100 | 74%
EEACE:E TN RERCRE) % L 7 9.400 79%
L575 | 7 100 | 76%
L577 | 7 100 | 76%
L579 | 7 000 | 71%
HILF L57 7 900 74%
L572 | 7 100 | 78%
L574 | 7 100 | 78%
L576 | 7 000 | 76%
R (CRE)=EfE FRCPE)$|_JL585 | 7 .600 69% 1:14.600
[ JLs87 | 7 600 | 72% |£:12.500, £:12.800
L589 | 7 900 | 63% 500, £:16.000. £:13.600
R | _JL584 | 7 600 | 59% |H:14.500. X7K:15.500
[ JL586 | 7 300 | 67% [+:11.000
L588 | 7 600 | 61% [H:13.500. £:14.000
e (PE)-LE FmCHE) % |_JL253 | 7 700 | _68% [AH: 12.100. £:9.500
[ JL255 | 7 100 | 59% [H: .000
[ JL257 | 7 100 | 59% [H:14.
[ JL259 | 7 700 | 60% [H:13.900. 0
[ JL261 | 7 700 | 68% |H:12.200. £:12.800. £:10.600
[ JL263 | 7 700 | 68% [H:11,300. 100, £:10,600
[ JL265 | 7 700 | 66% |A:
1267 | 7 200 | 67% |A:
LB | J252 | 7 400 | 66% [A
[ JL254 | 7 700 | 63% [A ,000
[ JL256 | 7 700 | 68% [A 800, £:9.900
[ JL258 | 7 500 | 69% [A 00
[ JL260 | 7 700 | 68% [A 600, £:9.500
[ JL262 | 7 100 | 62% |R 400, £:11,500
[ JL264 | 7 700 | 60% 500
L266 | 7 700 | 60% ,000
R (PE) =R HRCPA)$ [_JL623 7 .900 7. B 13,700
[ JL625 | 7 800 | 7 A& 14,800
[ JL627 | 7 ,800 7 B ,000, £:14,800, £:14,300
[ U629 | 7 800 | 7 B 600, £:14,100
L631 | 7 800 | 7 B 14,600, £:14,100
[ JL633 | 7 800 | 7 B >:13,000
L637 | 7 900 | 6 B 700, £:13,400
L639 | 7 000 | 70% 15,100
FEAR | _JL622 | 7 800 | 71% |A 200, £:14,800
[ JL624 | 7 000 | 70% [A 600, £:14,800
[ JL626 | 7 000 | 70% [A . £:14,700, F:14,800
L628 | 7 000 | 70% [A 13,200
L 7 800 | 71% [A 200, £:13,000
L 7 800 | 71% [A 600
L 7 800 | 71% [A 600
L 7! 600 69% | :X:13,400. 000, £:16,200
FR(PR)=-ERE | ®mmm@E) R [ _JL 7 8,900 81% [7:0,100, £:9,000, F:11,400
L 7 9,300 80% [H:9,500, #:10,300, F:11,400
L 7 10400 | 77% 1,400, £:11.900
L 7 11,600 | 75% 2,600, +:12,800
[ JL649 | 7 9.900 79% |2 +:10,900
[ JLes1 | 7 10400 | 77% [#£%:11.400
[ JL653 | 7 9,900 79% 1,900, +:10900
L655 | 7 9,900 79% 1,900, +:10900
BERER L 7 400 | 77% [X:10.600
L 7 600 | 73%
L 7 900 | 76%
L 7 400 | _75%
L 7 100 72% | RIKA:12.800
[ JL650 | 7 400 | _75%
[ JLes2 | 7 .900 | 76% [£:11.900
L654 | 7 900 | 76% [£:11.900
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